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. Solve the following first order differential eqﬁatidns (where y'= d % x ). (26%)
@ y+y=c+1)' ,y@)=0

®). y—x’y=—4x> ,y(0)=6

o 2
. Solve the following Second order differential equatnons (where y = % ¢ y = d % & ). (26%)

(a). y +2y +2y=cost ,y(0)= l 2 ,y(0)=1 4
(b). ty'—y =(@+t) tle' ,y(-)=2+e" ,y(-1)=-ff2.—-e"
. Find the following complex integration. (30%) |

6z%-4z+
(z-2)(1+4z%)
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. Consider the saw tooth function.

x+l,-1<x<0 . o
F(x)= { ,f(x+2)=f(x) . Find its Fourier series. (18%)
x+1,0< x<1 |
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